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(1) o waAl 5% ©.

Instructions : All questions are compulsory.

2) el cuyg-u ¥is 8 euld ¥,
Figures to the right indicate marks.
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Discuss the difference between Economic growth and Economic development.
»uWOR

wfs qle 2d ¢ 7 2ulls glel v 3],
What is Economic growth ? Explain the concept of Economic growth.

AL 2 els 2uas- wulils [asiaen 2ugsl 2wl
Explain the indicators of economic development of National income and per
capita income.
AYWOR
Al avil : wadl odfs Rl #iis (PQLL).
Write a short note : Physical quality of life index (PQLI).

wirq (s vis (HDDHL e 3.
Discuss the concept of Human Development Index (HDI).

A1Ya/OR

Al @il ¢ A ARl 2ius (HPD.
Write @ short note on Human Poverty Index (HPI).

2ufls gl Wl s Wda dsul 3l
Briefly explain the Prof. Harrods model of economic growth.

24al/OR
Sy Rsrid Wl el yde S5l wnndl.

Briefly explain the Prof. Hirschman’s model of economic development.

Al avil : wulls qled Wl SR RECH

f. Domar Model of economic growth.

AY/OR

A avil : aidla Rsrig wid.
Write a short note on Balance growth model.
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(©) M. A5 aold olad-A H3a-dl 2l 5.
Explain the concept of Prof. Nurkse’s Model of Implied Savings.

Y/OR
Audld (@5 i vaudla Rsin-Al {3 941l dslad axanal.

Discuss the difference between Balance growth model and unbalanced growth
model.

3. (A) adlell-u Meusl axal.
Explain the indicators of poverty.
AY4U/OR
Aol stRell Al
Discuss the causes of poverty.
(B) el qawiRifl 2uls s w-l sldual o 221 »al.
Discuss any two effects of population growth on economie¢ development.

) AUY4l/OR
Rl Asilcl Rugic wl.
Discuss the theory of demographic transition.
(C) we9n olsi?l QY Al @il
Write a short note on disguised unemployment.
AUQA/OR
olRlaoudl-l 2ulls vzl 3l

Explain the economic effects of unemployment.

4. (A) 2506 [s-u vya-l Al 51

Discuss the concept of sustainable development.
AYUWOR
WENSL-L 41281 AHanal.
Explain the causes of pollution.
(B) WgMeLdl MsRl (AN lu avuil.
Write a short note on types of pollution.
»94/OR

Seate (@Y -lu quil.
Write a short note on Dualism.

(€) sdla welsla [y ly avil.

Write a short note on Kyoto Protocol.

ARWOR
sl 3R2- vl 2l 52U,
Discuss the concept of carbon credit.
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5. sglsey yaq)

Objective questions :
(1) Aduxiefl s3] vue ay fdd & ?
(@) ulls (s b)  ulls wal
(©) ulls qfg (d) uls yeouddt
Which concept is most broad among the given below ?
(@) Economic progress (b) Economic development
(¢) Economic growth (d) Economic backwardness
(2) U [As s (HDI) 46 A dUR 53 € ?
By whom HDI is prepared ?
{a) UNDP (b) UNO
(c) UNICEF (d) UNESCO
3) DAl nfcyAs 2isMi sl waxde Wy § ?
(a) GDI (b) GEM
(¢) GDI 1 GEM &4 (d) uHid 5% Adl
Which is included in gender index ?
(a) GDI (b) GEM
(c) GDI & GEM both (d) .~None of these

@) yelAwoudldl augan waaan e -l 56 wd wart %331 € ?
Which condition is for full employment equilibrium growth ?
(a) G=0Gw (b) .G =0Gn
(¢) G =Gw=Gn @ Gw =Gn
5)  DA-untiell Wl R-AL2uMs gle- Hldad Yot 54 6 ?
Which is the equation of Prof. Domar Model of economic growth ?

Al
(a) %‘I=aﬂ (b) T =02
AY
(c) ﬁ=aﬂ' (d) "A—I'zaﬁ

sedl qle €2 il 56 Asit gL v © ?

(6)

Natural Rate of growth is represented by the symbol
(@ G (b) Gw

“(¢) Gn d GG
andld [Es ved _

. (@) i Aodltl Qs (b) Gellol &l [AsiRe
© A Al [asr @ sM aanl (s
Balanced growth means balance in
(a) all sector (b) industry sector

(d) agricultural sector

(c) service sector
3
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8) ¥ Y gl el Rrdryi dadld sy WEe 448 e 8 7

&)

Which standard of calories for rural areas is decided by Planning Commission ?

(a) 2000 (b) 2100

(c) 2300 (d) 2400

suL sl Aol A vaHAl Guyla wy ¢ ?

(a) ™MRd () WiRdl

©) iR d) O\

In which country the concept of relative poverty is used ?
(a) India (b) Pakistan

(¢) USA (d) Egypt

(10) DA-uniell 54 a¥ qeirt Rl Rouy-t adly slava ¢ 2

(13

Which year is known as year of great divide of India’s population?

(a) 1991 (b) 2001
(c) 1921 (d) 1951
(11) DAzl sur wsRN As@AL Aid Gawesdl Lo 9.2
(@) Ay (b) N¥9A
©) Ml d)  wewy
In which unemployment the marginal productivity 1§.zero ?
(a) Cyclical (b) Disguised
(c) Seasonal (d)* Frictional
(12) dean 2+t sl slsuss wasadl oy sol 3R2 2w © ?
@) 12+ ) 2 e+
€) 32+ d> 4 2
For how many tons of dectease in carbon dioxide, one carbon credit is given ?
(a) 1ton (b) 2ton
(c) 3ton (d) 4ton
) slol Wlelsla-l wie sardl 43 yyl ?
@) 1994 (b) RAR 1997
c) ¥l 1998 (d) ¥R 2001
From which year, Kyoto Protocol has been implemented ?
(a) . March 1994 (b) December 1997
(c) April 1998 (d) November 2001
(14) AA-usiel 53 UgNSL wiaA R d Al ?
(a) Uxal UENRL (b) &l
(c) Wul wscla UENSl d) wdd ugNRL

Which of the following pollution is not man-made ?
(a) Manne pollution (b) Volcano
(c) Radioactive pollution (d) Thermal pollution
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